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Note :- This paper of Thirty five (35) marks divided into

two (02) Sections ‘A’ and ‘B’. Attempt the questions

contained in these Sections according to the detailed

instructions given there in. Candidates should limit

their answers to the questions on the given answer

sheet. No additional (B) answer sheet will be issued.

bl iz'u&i= iSarhl (35) vadksa dk gS] tks nks (02) [k.Mksa

^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x, foLr`r

funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ vius

iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer j[ksaA dksbZ

vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh tk;sxhA

Section–A

([k.M–v)

Long Answer Type Questions

(nh?kZ mÙkjh; iz'u) 2×9½=19
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Note :- Section ‘A’ contains Five (05) Long-answer type

questions of Nine and Half (9½) marks each.

Learners are required to answer any two (02)

questions only.

[k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, lk<+s ukS (9½) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. (a) Write the postulates of kinetic theory of gases.

xSlksa ds v.kqxfr fl¼mkUr ds vfHkxzfgrksa dks fyf[k,A

(b) Give difference among solid, liquid and gaseous

state.

Bksl] æo rFkk xSlh; voLFkk esa vUrj nhft,A

2. Write notes on the following :

(a) Liquid crystal

(b) Crystal structure of NaCl

fuEufyf[kr ij fVIif.k;k¡ fyf[k, %

(v) æo fØLVy

(c) NaCl dh fØLVy lajpuk

3. (a) Derive Bragg’s equation.

czSx dk lehdj.k O;qRiUu dhft,A
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(b) What are colloids ? Explain the classification of

colloids.

dksykbM D;k gS \ dksykbM ds oxhZdj.k dks le>kb,A

4. (a) Define catalysis. Describe the general

characteristics of catalyzed reactions.

mRizsj.k dks ifjHkkf"kr dhft,A mRizsfjr vfHkfØ;kvksa dh

lkekU; fo'ks"krkvksa dk o.kZu dhft,A

(b) Two moles of an ideal gas expand isothermally

and reversibly from a volume of one litre to a

volume of ten litre at temperature 27°C. Calculate

the work done.

vkn'kZ xSl ds nks eksy lerkih; vkSj mRØe.kh; <ax ls

27°C rki ij ,d yhVj vk;ru ls nl yhVj vk;ru

rd QSyrh gSA fd, x, dk;Z dh x.kuk dhft,A

5. (a) Define heat capacity. Derive relation between Cp

and Cv.

Å"ek /kkfjrk dks ifjHkkf"kr dhft,A Cp vkSj Cv ds chp

lEcU/k O;qRiUu dhft,A

(b) State and explain first law of thermodynamics.

Å"ekxfrdh ds izFke fu;e dks crkb, rFkk le>kb,A
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Section–B

([k.M–c)

Short Answer Type Questions

(y?kq mÙkjh; iz'u) 4×4=16

Note :- Section ‘B’ contains Eight (08) Short-answer type

questions of Four (04) marks each. Learners are

required to answer any four (04) questions only.

[k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, pkj (04) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks buesa

ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA

1. Draw and explain the curve showing Maxwell’s

distribution of molecular velocities.

vkf.od osxksa ds esDlosy forj.k ds oØ dks cukb, vkSj

le>kb,A

2. Write short notes on the following :

(a) Unit cell

(b) Joule-Thomson effect

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, %

(v) ,dd dksf"Bdk

(c) twy&FkkWelu
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3. Define the following :

(a) Order of reaction

(b) Activation energy

fuEufyf[kr dks ifjHkkf"kr dhft, %

(v) vfHkfØ;k dh dksfV

(c) lfØ;.k ÅtkZ

4. Explain Hardy-Schulze rule with example.

gkMhZ&lqyts fu;e dks mnkgj.k lfgr le>kb,A

5. Write difference between the following :

(a) Intensive and extensive properties

(b) Open system and isolated system

fuEufyf[kr ds chp vUrj fyf[k, %

(v) O;kid vkSj xgu xq.k

(c) [kqyk fudk; vkSj foyfxr fudk;

6. Describe Hess’s law of constant heat summation and its

application.

gsl ds fu;r Å"ek ;ksx ds fu;e vkSj mlds vuqiz;ksx dk o.kZu

dhft,A

7. What is heat of neutralization ? Define bond dissociation

energy.

mnklhuhdj.k Å"ek D;k gS \ ca/ku i`FkDdj.k ÅtkZ dks ìFkDdj.k

dks ifjHkkf"kr dhft,A
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8. (a) What are pseudo-first order reactions ? Give

examples.

vkHkklh izFke dksfV dh vfHkfØ;k,¡ D;k gSa \ mnkgj.k

nhft,A

(b) For first order reaction, the half-life period is 10

minutes. Calculate the rate constant.

izFke dksfV dh vfHkfØ;k ds fy,] v¼Z vk;qdky 10

feuV gSA osx fLFkjkad dh x.kuk dhft,A

**************


